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5.

What is Digital Image Processing ?

(1) It’s an application that alters
digital videos.

(2) It's software that allows
altering digital pictures.

(3) It's a system that manipulates
digital medias. |

(4) It's a machine that allows
altering digital images.

(5) Question not attempted lﬂi lﬂ&

B

E)

is as American social new
aggregation, content rating and
discussion website. '
(1) Blinklist (2) Simpy
(3) Digg (49) Reddit
(5) Question not attempted

A situation where a digital
resource is no longer readable is
called :

(1) Digital Obsolescence

(2) Digital Rendering

(3) Digital Representation

(4) Digital Divide

(5) Question not attempted

KOSs can be used to
A. Provide alternate subject
access.

B. Add modes of understanding
to digital resources.

C. Support multilingual access.

D. Supply terms for expansion of
limited-text  searches in
unknown domain.

Options : 7
@1 ABCD (2 ACD
3) B,C,D, (4) AB,C

(5) Question not attempted

Who of the following developed the
PPBS (a Budgeting method) ?

(1) R.S. McNamara

(2) Peter Phyrr

(3) Henry Fayol

(4) F.W. Taylor

(5) Question not attempted
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(4) (A) 3R (R) I FEAE |

(6) SIITRE T

Name the classificationist, who
made. a systematic attempt to
formulate a theory of classification
as early as in 1901 and also
advocated for ‘specific index’.

(1) S.R. Ranganathan

(2) H.E. Bliss

(3) Melvil Dewey

(4) E.C. Richardson

(5) Question not attempted

HELINET consortium is developed

and maintained by

(1) Rajiv Gandhi National
Institute of Youth
Development, Tamil Nadu

(2) Rajiv Gandhi University,
Arunachal Pradesh

(3) Rajiv Gandhi University of
Health Sciences, Karnataka

(4) Rajiv Gandhi Centre for
Biotechnology, Kerala

(5) Question not attempted

DELNET was established with the
support of . ‘
(1) UNESCO (2) WTO
(3) NISSAT 4) UGC
(5) Question not attempted

Assertion (A) : Osmosis method is
a procedural method for
reclassifying a library without
disrupting its services.

Reason (R) : By this method only
those documents which are no
more in current use are given
new classification number.

Option :

(1) (A)is true, (R) is false.

(2) (A)isfalse, (R)is true.

(3) Both (A) and (R) are true.

(4) Both (A) and (R) are false.

(5) Question not attempted




10.

U= openAIRE T o dgd feepfem
3Ny -ved Rt s am 2 2
(1) frmERR

) gggaﬁwﬁqﬁzﬂ

11.

12,

13.

14.

(3)
(4) UTHEhRETedu
(5) 3TN T

g i e e e

qiTeTE! o1 IeX9 8

(1) SwInTRat Uge ! Hift i & forg

(2) 3-HETHA & =94 3R 69U FH
forg

(3) zafi @ we % fag

(4) 9 AW H YlaeRd s &

o
(5) g ¥
T gETae e Af o vgem =1

FTEATE ?

(1) Ef

(2) e

(3) wEEfR
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(5) AT
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a2 (DRM) &1 9N AT 2
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(2) =feFm @M & fow ggor w
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(3) wmerTE (4) THMR
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10.

11.

12.

13.

The European openAIRE program
produced the general-purpose open
Access repository known as —

(1) Figshare

(2) Dryad Digital Repository

(3) Zenodo

(4) Academia.edu

(5) Question not attempted

What 1is the purpose of an

Electronic Resource Development

Policy in libraries ?

(1) To limit user access

(2) To guide the selection and
management of e-resources

(3) To increase licensing costs

(4) To restrict budget allocation

(5) Question not attempted

What is the first step in electronic
resource development policy ?

(1) Ordering

(2) Budgeting

(3) Licensing

(4) Need Assessment

(5) Question not attempted

Digital Rights Management (DRM)

in the context of e-resources

typically aim to :

(1) Prevent unauthorized
duplication and sharing.

(2) Increase printing and copying
for personal use.

(8) Facilitate unrestricted access
to content.

(4) Enhance the aesthetic
appearance of digital content.

(5) Question not attempted

Select the odd one from the given
options :

(1) Sodhganga

(2) Vidwan

(3) Sodhgangotri

(4) Infoport

(5) Question not attempted
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16.

17.

18.
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15.

16.

17.

18,

- ®)

What is the main function of the
EPC (Editional Policy Committee)

in the Dewey Decimal

classification system ?

(1) To oversee international
libraries

(2) To develop a new
classification system
To advice editors and OCLC
on changes, innovations, and
general development of the
classification

(4) To represent the interests of
OCLC users

(5) Question not attempted

Which  conference in 1948

highlighted the need to explore the

potentialities of UDC in

mechanized retrieval ?

(1) International Information
Symposium :

(2) Royal Society’s Scientific
Information Conference

(3) UDC Research Summit

(4) UDC manual conference

(5) Question not attempted

The phoenix schedules in DDC

represents :

(1) Classes to be modified in the
future

(2) Classes which are completely
changed

(8) Classes which are slightly
modified

(4) Classes not to be modified

(5) Question not attempted

Which technology is commonly

used to ensure that only

authorized users can access

subscription based e-resources ?

(1) Blockchain

(2) Redundant Array of
Independent Disk (RAID)

(3) Virtual Private Network (VPN)

(4) Quick Response (QR) Codes

()

Question not attempted
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19.

20.

21.

22.

| 23.
|
!
|
|
|
| 24,

Which of the following is pioneer for
the concept of copy left licenses ?

(1) R.Stallman (2) M.J. Kenn
(3) dJosh Martin (4) D. Smotrich
(5) Question not attempted

Which of the following is not a part
of task oriented ontology ?

(1) Lexical level

(2) Core level

(3) Conceptual level

(4) Symbol level

(5) Question not attempted

Which one is not the part of sub-
languages of web ontology language ?
(1) OWLIlite (2) OWLDL

(3) OWL Full (4) OWL Protege
(5) Question not attempted

Match the following :

List-I List-I1
A. EDUG i 1952
B. Electronic Dewey 1ii. 1996
C. Dewey Section 1. 2007
D. UDC consortium iv. 1953

Codes :
A B C D

(1) i il 1 iv
@2y M 1#H v -1
@B i i 1 iv

(4 iv 1 1 il
(5) Question not attempted

Which one in the following is not
associated with 5R’s activities of
OER ?

(1) Receive (2) . Redistribute
(3) Revise (4) Revision

(5) Question not attempted

How does SKOS represent

knowledge organization systems ?

(1) Using JavaScript

(2) Through XML

(8) Using the Resource
Description Framework

(4) In HTML format

(5) Question not attempted
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g1 11
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25.

26.

217.

(5

The internationally renowned
Greenstone Digital Library
Software 1is creation of the
following institution :

(1) Online College Library

Centre, Ohio, U.S.A.

Digital Library Federation
with the National Information
Standards Organization,
U.S.A.

University of North Carolina,
Biblio Project

New Zealand Digital Library
Project, University of Waikato
Question not attempted

(2)

®3)
(4)
(®)

The idea of Electronic Resource
Management was developed by :

(1) Dublin Core Metadata
Initiative
(2) International Federation of

Library Associations
Tim Jewell in 2001-2002, NISO
IEEE standards

Question not attempted

(3)
(4)
(3)

Match the following : .
List-I List-II

A. Green i. OCLC
Glass

B. Tipasa ii. Resource sharing

service

Connect to global

knowledge

network

U.S. Dept.

Agriculture

C. Syndeo iii.

D. Agricola iv. of
Codes :
A B C D
(1) m iv 1 i
(2) 1 Hi iv i
3 1 1 il iv
4 Wi i1 1 iv
Question not attempted
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29.

30.

31.

32.

ISDN 1 quf &9 & 28.

(1) Integrated Services Digital
Network
(2) Internet Service Digital

Network l
(3) Instant Secure Data Network
(4) International Standard Dial-
up Network

(5) A T

Frfafaa & 17 a1 gréea Tes, S
freem & fiax 27 wom  Hg 9
it wEf 2 2

(1) Hew wafE gfe

(2) YvgH wERE AqH
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(4) TS
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HH W YRR WEeH qHE Wife
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fetu et fpaset yg=™ (RFID) &1

I KT 8 ?
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(3) ISDN (4) QR code

(5) i F
e 17 o o
1 TH THR
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(1) TFRTEFR U € T (IaaS)
(2) wiHH U T (Paal)
(3) WA WS T Hldd (Saal)
(4) HFH U U HEE (Faas)
(5) ITFTRE e

ST SeRRie T (TCP/IP) % e i &1
T e S 3R SAgHAw 5 T
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29.

30.

'I}!T:IT 31.

ISDN stands for

(1) Integrated Services Digital
Network

(2) Internet Service  Digital
Network

(3) Instant Secure Data Network

(4) International Standard Dial-
up Network

(6) Question not attempted

Which of the following hardware
components is not involved directly
in the processing of data within a
computer system ?

(1) Central Processing Unit

(2) Random Access Memory

(3) Input/Output Devices

(4) Motherboard

(5) Question not attempted

Which library automation
standard used Radio Frequency
Identification (RFID) for accurate

“tracking and management of
physical library material ?

(1) Barcode (2) NFC

(3) ISDN (4) QR code

(5) Question not attempted

Which of the following is a type of

cloud computing service that

provides a scalable infrastructure

for computing resources ?

(1) Infrastructure as a Service
(IaaS)

(2) Platform as a Service (PaaS)

(8) Software as a Service (SaaS)

(4) Function as a Service (FaaS)

(6) Question not attempted

oy
Within the internet protocal suits [En ﬂl:f
(TCP/IP), which element defines "
reliable data transmission with
error checking and sequencing ?
(1) Transmission Control Protocol
(2) Terminal Control Protocol
(3) Transfer Control Protocol
(4) Transport Control Protocol
(6) Question not attempted
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33.

34.

35.

36.

37.

7
8

38.

What is the term used to describe
the process of translating binary
data into machine code ?

(1) Assembly language

(2) Machine language

(3) High level language

(4) Scripting language

(6) Question not attempted

In ARPANET, P stands for :
(1) Programme (2) Projects
(3) Policy (4) Packet
(5) Question not attempted

What is the primary purpose of a
protocol in computer network ?

(1) To Transmit data

(2) To Receive data :
(8) To Manage network resources
(4) To facilitate communication
(5) Question not attempted

What is the term used to describe
the communication between two
devices on a network without the
use of router ?

(1) Peer-to-Peer

(2) Client-Server

(8) Network-Server

(4) Host-Host

(6) Question not attempted

MARC-21 is based on

(1) PDF (2) ISO 2709
(3) ISO2708 (4) 7Z50.4

(5) Question not attempted

What is the term used to describe
the process of analysing data to
identify patterns and trends ?

(1) Data Mining

(2) Data Analysis

(3) Data Visualisation

(4) Data Inference

(5) Question not attempted
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39.

40.

41.

42,

IDS stands for

of computer.

(1) Intrusion Detection System
(2) Internet Delivery System
(3) Internet Document Service
(4) Intrusion Document Service
(5) Question not attempted

Who coined the term ‘Li-Fi’ ?
(1) Rosel Marsh

(2) Tim Kortze

(3) Herald Hash

(4) Necolus Mindle

(5) Question not attempted

In context

Which are considered as RFID
standards for libraries ?

1. NCIP

ii. PSP3

ii. ISO28560-1: 2011

iv. SIP2

(1) 1,11 and iii are correct
(2) 1ii, 111 and iv are correct
(3) 1i,iii and iv are correct

1, i1 and iv are correct
Question not attempted

(4)
(3)

The fundamental elements of cloud
computmg are —

1. Virtualization £ =
ii.  Grid technology E@:
iii. QR B
iv. NFC

(1) 1iand iiare correct

(2) 1 and iv are correct

(3) 11 and iii are correct

(4) 1iii and iv are correct

(5) Question not attempted

Who developed

purpose computer ?

(1) dJohn Eckert and John W.,
Mauchly

(2) John C.W. Gorman

(3) Charles B. Tonny

(4) Green V. Gorman

(5) Question not attempted

first general

06



44.

45.

46.

47.
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B ;
|
|
|
|
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) iv i i i
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@) i i i iv
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(5) - I A
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44,

45.

46.

417,

Match the following :
List-1 List-II
A. Browser i. Store web document
B. Server ii. A piece of
software/machine
that acts as a
centralized source

of information
C. Web 1i1. Used to connect with
Browser sites on the www
D. Web iv. Software program
Server that allow to access

webpages on www

Codes :

A B C D
(1) i 14 iv i
2y 11 v 1.0
3 di 1 iv il
(4) i v 1 il
(5) Question not attempted
GDPR is related with
(1) Data Identification
(2) Data Protection
(3) Data Transmission

(4) Data Storage

(5) Question not attempted

Linux was initially released in :

(1) 1989 (2) 1992
(3) 1991 (4) 1995
(5) Question not attempted
Match the following :
List-I List-I1
A. Browser i. PASCAL
B. Operating ii. Mozilla
System
C. Programming iii. Digg
Language

D. Search Engine iv. MPEAX
Codes : ‘
A B C D
1) v 1 a1
2 1w 1 I
3 i i 0 4i - i
4 1 i 1 iv
(5) Question not attempted

-



48.

49,

50.

61.

52.

53.

kL)

IPv6 forg o 1 srferes o a1mam 2
(1) 2005 (2) 2010
(3) 2017 (4) 2019

(5) TR A
HTTPs WEisict T STIThT Hel gAT ?

(1) 1989 (2) 1990
(3) 1994 (4) 1997

- (5) aqaﬂfram

T HIIRIA HTH TEEE A5 T Tw

" (ICANN) %1 J&ITa 8l & ?

(1) i Taiferd
(3) =

(5) g s
DNS (Domain Name System) @&

FHIRIA AT o1 T4 1 @

(1) IANA (Internet

Number Authority)
(2) W3C (W3 Consortium)
(3

(2) afdnmes
(4) Treem

Assigned

PTI (Public Technical
4) Service
Providers)

Identifier)
ISP (Internet
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3
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ST T

(2)
3)
4
()

JSON FI QUi &9 8 :

(1)
(2)
3)
(4)
®)

Joint Server Object Number
Joint Script Object Number
Java Script Object Notation
Java Script Object Number

IR T2

| 5
°
!
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12

48.

49,

50.

52.

IPv6 came into existence in :
(1) 2005 (2) 2010
(3) 2017 (4) 2019
(5) Question not attempted

In which year HTTPs Protocol was
invented ?

(1) 1989 (2) 1990

3) 1994 (4) 1997

(5) Question not attempted

Where is the Headquarter of
Internet Corporation of Assigned
Names & Numbers ICANN) ?

(1) Los Angeles (2) Washington
(3) New York (4) Chicago

(5) Question not attempted

Activities related to DNS (Domain
Name System) are managed by :

(1) TANA (Internet Assigned
Number Authority)

(2) W3C (W3 Consortium)

38) PTI (Public Technical
Identifier) '

(4) ISP (Internet Service
Providers)

(5) Question not attempted

Frequency Division Multiplexing
(FDM) enables the transmission of
multiple signals over a single
channel by :

(1) Dividing the bandwith

(2) Modifying the signal amplitude
(3) Shifting signal frequencies

(4) Segmenting data into packets

(6) Question not attempted

JSON stands for :

(1) Joint Server Object Number
(2) Joint Seript Object Number
(3) Java Script Object Notation
(4) Java Script Object Number

(5) Question not attempted

- 06



54.

55.

56.

57.

58.

59.
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54.

55.

56.

57.

58.

tolerance

What is the maximum length of
data block in packet switching
network ?

(1) 128 bits to 4096 bits

(2) 128 mb to 4096 mb

(3) 128 bytes to 4096 bytes

(4) 128 kb to 4096 kb

(6) Question not attempted

Virtual Reality (VR) immerses
users in a simulated environment.
Which technology creates a
realistic sense of depth and spatial
awareness ?

(1) Immersvision

(2) Spatial audio

(8) Stereoscopic vision

(4) Haptic feedback

(5) Question not attempted

Which of the network topology
offers the highest level of fault
but requires more
cabling and configuration ?

(1) Bus (2) Star

(3) Ring (4) Mesh

(5) Question not attempted

e-Pathshala is an initiative of :
(1) INFLIBNET

(2) NCERT

(3) IGNOU

(4) University of Delhi

(5) Question not attempted

Netscape web browser was first
launched in :

(1) 1999 (2) 1994

(3) 2000 (4) 1989

(5) Question not attempted

Operating system like Windows
fall under which category of
computer software ?

(1) System Software

(2) Application Software

(3) Programming Language

(4) Firmware

(5) Question not attempted
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65.

66.
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60.

61.

62.

63.

65.

66.

In PREMIS, I stands for :

(1) Information

(2) Interconnection

(3) Implementation

(4) Incorporation

(5) Question not attempted

Currently, in XAMPP, M stands
for :

(1) MySQL (2) MariaDB
(3) Mediawiki (4) MyAdmin
(5) Question not attempted

INSPEC was started in :

(1) 1947 (2) 1957
3) 1967 (4) 1977
(5) Question not attempted

INIS database was established in :
(1) 1972 (2) 1969

(3) 1970 (4) 1971

(5) Question not attempted

SOUL software is based on —
(1) COBOL (2) RDBMS
(3) SQL Server (4) Oracle
(5) Question not attempted

Which of the following is/are not
the open source software/s ?
1. Libsys

ii.  Open Biblio

iii. Fedora

iv. Microsoft Office

(1) 1iand iv are correct

(2) 1iiand iii are correct

(8) 1iiand iv are correct

(4) only ivis correct

(5) Question not attempted

During the planning phase of
library automation, what is the
significance of a feasibility study ?

(1) Evaluating the colour scheme

(2) Assessing the potential
benefits and costs

(3) Choosing the latest

cataloguing rules
Deciding on software features
Question not attempted

(4)
(5)
- 06
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68.

69.
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67. Match the following :
A.

68.

69.

70.

B.

C. Open Journal iii.

~ List-IT
INFLIBNET

List-I
Indian i
Academy of
Science
IndMed il.
(IndMED@NIC)

Ministry of
Science and
Technology
NISSAT
Access System
. Indian
National
Science
Academy
Codes:
A B
1) iv 1
@ 1 1 v i
3 1 1 i iv
4 u iv 1 1
(5) Question not attempted
What is the full name of OAI ?
(1) Openly Archives Initiatives
(2) Open Access Initiatives
(3) Ohio Access Initiatives
(4) On-Line Archives Initiatives
(5) Question not attempted

ICMR

1v.

C

51 P |

The term ‘Open Source Software’
was coined by —

(1) Andre Philips

(2) Eric Raymond

(3) Henry Gill Wracks

(4) J.Immersion

(5) Question not attempted

Match the following :
List-I

A. UGC-INFONET i.
B. CALIBNET ii.
C. BONET 1i1.
D. SHODH SINDHU iv.
Codes :

A B C D
1 1 v 1 i
@2 1 iv i i
) i 1 iv i
4) v 1 1 1
(5) Question not attempted

List-II
1994
2002
2015
1986
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(5) IFTNG T
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71.

72.

Match the following :
List-1 List-1I
A. Digital i. IIT, Kharagpur
Library of
India
B. TKDL ii. UNESCO
C. WDL iii. Ministry of
Ayush
D. NDL iv. Office of the
Principal
Scientific
Advisor to
Government of
India
Codes :
A B C D
() iv 1 o i
(2 1 1 iv i
(3) iv 11 1 i
4 1 w u i
(56) Question not attempted
Match the following : ‘
List-I List-II
A. Kalasampada i. Ministry of
Communica
—tions and
Information
Technology
B. NDBIAC ii. SYDA
~ foundation
USA
C. National 11, MCIT and
Mission  for Archaeolo—
Manuscripts gical Survey
of India
D. Muktabodha iv. Ministry
Tourism &
Culture
Codes :
A B C D
(1) iv 1 1 il %
@ i iv i i i_ig,_
(3 i i i v lhe
4 1 i v 1
(5) Question not attempted
06
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73. Assertion

74.

75.

(A) INFLIBNET
provides document delivery
service to all types of libraries

in India.

Reason (R) : Modern technologies
made it possible for electronic
transmission of  required
documents.

Codes:

(1) Both (A) and (R) are correct.

(2) (A)is wrong, but (R) is correct

(3) Both (A) and (R) are wrong

(4) (A) is correct and (R) is wrong

(5) Question not attempted

OCLC, a global network, stands for :

(1) Online Cataloguing and
Library Collaboration

(2) Online Computer Library
Center

(8) Open Consortium for Library
Cooperation

(4) Operational Cataloguing and

Library Connectivity

(5) Question not attempted
Match the following :
List-I List-I1
A. Vidyanidhi i. Institutional
repository
B. TKDL ii. Electronic
thesis = &
dissertations
C. DOAJ iii. Open Access
' Journals
D. E-print @ iv. Digital
1ISC Archive
Codes:
A B C D
(1) iv 1 i 1
2 i i v il
3 i1 iv i 1
(4 i iv 1 i

(5)

Question not attempted
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76.

717.

78.

79.

80.

The term ‘metadata’ in the context

of internet refers to :

(1) Data stored on
surface

(2) Information about data

(8) Code used in web development

(4) Messages sent over the

(5)

Internet
Question not attempted

To support multilingual, a library

management software must be

compliant with 1

(1) Z39.50 (2) RAID

(3) UNICODE (4) MARC21

(5) Question not attempted Eﬁ

Shodh-Chakra operates as a —

(1) Physical Research Centre

(2) Digital Research Workspace

(3) Print Publication

(4) Software Application

(5) Question not attempted

Which standard serves as a
reference model for OPEN
Archieval Information Systems
(OAIS) ?

(1) Dublin Core

(2) PREMIS

(3) METS

(4) ISO 14721:2012

(5) Question not attempted

What is the full form of INSPIRE

Database ?

(1) Integrated Network for
Science, Privacy and Security

a metal

(2) Infrastructure for Spatial
Information in the European
Region

(3) Information Network for
Special Information in
European Region

(4) Innovative Network  for

Spatial Information in Europe
Question not attempted

(5)
06
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84.

85.

86.
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81.

82.

83.

84.

85.

Which open-source software is
commonly used for creating digital
repositories in cultural heritage of
institutions ?

(1) Omeka (2) Koha

(3) Fedora (4) Evergreen
(5) Question not attempted

Identify the odd one:

(1) VuFind (2) Koha

(3) Newgenlib (4) Openbiblio
(5) Question not attempted

Which of the following is an open
source DBMS ?

(1) MS SQL Server

(2) SAP HANA

(3) PostgreSQL

(4) Amazon Redshift

(6) Question not attempted

Which web server software is
included in XAMPP ?

(1) Nginx

(2 1IIS

(3) Apache HTTP Server

(4) Tomecat

(5) Question not attempted

Which of the following is not
considered as digital objects ?

(1) A text document

(2) An audio recording

(3) A physical book scan

(4) A software program

(5) Question not attempted

How does the digital preservation
helps in handling the old material ?
(1) By extending the life of

original
(2) By safeguardmg the books
(3) By digitising the books
(4) By retrospective conversion
(5) Question not attempted

m]




87.

88.

89.

90.

91.

92.

T & I H TRl TEehlor JeETge) I
Terpetin IwRinTeRatat o forq uge werdt & 2
e

(1) aw

(2) UT9-379 ferzma

(8) o9 iz wHRAfNfAS TEEaTEH
(WCAG)

(4) TewIE

(5) ergafd we

www T R & faw 3w fear s

AT T e TR ?

(1) FTP (2) HTTP

(3) SMTP (4) TCP/IP

(5) 3TN T

%@a % ﬁm SRU/SRW o

(1) FTP

(2) Z39.50

(3) SOAP I REST
(4) sfeHR

(5) 3TIANG ¥

PHP (diwadi) ®:

(1) essh gt

(2) 3NuF A1, TeR grge e amr
(3) =ATSE Hige TSR wre

(4) TR fen

(5) ITFTING W

9 2.0 1 g fersieand oo € 2

(1) RR® *e, T9-9 FHHIA,

YTTETE Hrglel
(2) SRAM® =,
HIATRIA
(3)

(4)

(5)
feafafes o @ w9 @ wie dewiicsn
feforeet wregor <6 foru srgugs wAT AT B 2
1) TIFF 2) JPEG

233 WAV fzﬁ PDF/A

(5) ATANA I

|

87.

88.

89.

90.

91.

592

!
E
)
!
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Which technology enhances

accessibility for the wusers with

disabilities on library website ?

(1) Interactive elements

(2) Pop-up-ads

(83) Web Content Accessibility
Guidelines (WCAG)

(4) Large Font

(5) Question not attempted

What is the Primary protocol used

for communication on the www ?

(1) FTP (2) HTTP

(3) SMTP (4) TCP/IP

(5) Question not attempted
SRU/SRW  relies on  what

communication protocol for remote
searching ?

(1) FTP

(2) Z39.50

(3) SOAP or REST

(4) Dublin Core

(5) Question not attempted

PHP is a/an :

(1) Network Programming

(2) Open-Source, Server-side
Scripting Language

(3) Client-Side Scripting Language

(4) Operating System

(5) Question not attempted

What are the key characteristics of

Web 2.0 ?
(1)

One-way
Centralized

Static  content,
communication,
control

Dynamic content, User-
generated content,
collaboration and participation
Internet speed limited,
Limited interactivity, Offline
access

Client-Server architecture,
Limited multimedia and user
engagement

Question not attempted

(2)

(3)

4)

®)

Which of the following formats is
generally considered unsuitable for
long term digital preservation ?

(1) TIFF (2) JPEG

(3) WAV (4) PDF/A

(5) Question not attempted
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93. FHATARMSAF4 Vs&?

94.

95. W™ FEUM HEAT Acosh  WUTE

96.

06

(1)
)
3)
C))
()

Volume, Velocity, Variety,

Volatality

Value, Velocity,
Validity
Volume,
Veracity
Volume, Viscosity,
Vulnerability

CENIEGREE]

Velocity, Variety,

Velocity,

FRBR Higd sl TR 3h1sd1 F91 3 ?

(D)
@)
(3)
(4)
®)

T&deh, YU, SUCTSHdl, FHR
%, rfsuafd, ToF, I
I, 39S, o, safdaE
AN T

(IRINS) i T 371 9T :

(1)
(2)
3)
(4)
(5)

3R, 2017
Tgamw, 2017

fewra, 2017

IS, 2017
AN T

FAIR 1 3f a1 8 ?

(1)
(2)
3
(4)
()

Free, Accessible, Inclusive,

Reliable

Findable, Accessible,
Interoperable, Reusable
Formal, Analytical,
Integrated, Rigiorous

Fast, Adaptable, Informed,
Robust

TN T

Versatility,

r—— T S TR, T—— T WA . Tim—— T —— To——
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93.

94.

95.

Which of the following is 4 V’s of

Big data ?

(1) Volume, Velocity, Variety,
Volatality

(2) Value, Velocity, Versatility,
Validity

(3) Volume, Velocity, Variety,
Veracity

(4) Volume, Viscosity, Velocity,
Vulnerability _

(5) Question not attempted

What are the four entities of FRBR

model ?

(1) Personality, Matter, Energy,
Space

(2) Books, Form, Availability,
Type ‘

(3) Work, Expression, Manifestation,
Item

(4) Discipline, Entity, Action,
Personality

(5) Question not attempted

Indian  Research  Information

Network (IRINS) is launched in :

(1)
2
3
(4)
()

October, 2017
September, 2017
December, 2017

July, 2017

Question not attempted

What does FAIR stand for ?

(1)
@
3
(4)
(5)

Free, Accessible, Inclusive,

Reliable

Findable, Accessible,
Interoperable, Reusable
Formal, Analytical,
Integrated, Rigiorous

Fast, Adaptable, Informed,
Robust

Question not attempted




97.

98.

99.

100.

101.

fedaftmamag?

]

e AR 9 T % R

Th THd e Hih

WIS G9! HH Hh

AN I

ST A B T ST i ST

IS %1 FERIAT o 3R Tl gl

T T T T ST S 2

1) e Hifea wewH

(2) i@ dew

(3) INTHTHEE

(4) BT WIET=T

(5) TG W

g 3T i § TTaftes SR g ?

(1) e Haw Afed an &, efh
drgse # e greh i S E |

(2) dEHER Fud AR B, wEH
O § Sfifee aref et B |

(3) UISHRL 3N aISHRLZ ] I I9FT
TR Tk 5 o T foman s aeman 2 |

(4) UISHRE IR AeHRZ AT AT T
g T fopg STt € |

(5) AT S ,

FY (A) : gl yEEE gumell (CMS)

;qﬁméwqt%&a
1

SR (R) : 91 T T8 IHAITHRA  ST6ER

TR =reret Hifgar sgmi o fergerso &

wEwEE |

(A) 3R (R) A e & |

(A) ¥ 8, (R) 8 ¢ |

(R) § 2, (A) FEA R |

(A) 3R (R) gHI 3T H E |
R

(1)
(2)
(3
(4)
()

98.

|
|

! 99.

s LA USRS TALASSS it TR TS TS YL AP Ge T L

N
N

100.

101. Assertion

Which of the following is odd-one ?
(1) Pure

(2) Symplectic format

(3) Converis

(4) Incites

(5) Question not attempted

How do web-scale discovery
services enhance user experience
in the library ?

By limiting search options

By offering only joint resources
By providing a single entry
point for assessing electronic
resources

By reducing search time
Question not attempted

(4)

Which technology enables users to
subscribe to website updates and
receive automatic notifications ?

(1) Social Media Platforms

(2) Instant Messaging

(3) RSS feed

(4) Fill Transfer Protocol

(5) Question not attempted

What is the primary difference
between Podcasts and Vodcasts ?
(1) Podcasts are audio-only, while

Vodcasts includes video
content

(2) Vodcasts are audio-only,
while Podcasts include video
content

(3) Podcasts and Vodcasts are the

terms used interchangibly
Both Podcasts and Vodcasts
are exclusive live streamed
Question not attempted

(A) : Content
Management Systems (CMS)
primarily focus on user
communication.

Reason (R) CMS helps in

analysis of user behaviour

and social media trends.

Both (A) and (R) is true

(A) is true, (R) is false

(R) is true, (A) is false

Both (A) and (R) is false

Question not attempted

(4)
()
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102.

103.

||‘iﬁ

.5

- 104.

105.

06

TR eI T A higa B :
(1)
(2)

(3)
4
(5)
frafiRea =1 fie ﬁ :
-1 gef-II
A TEHAE i e L]
R i
B. i?éaﬂ's‘m i, fmamE-dt w

T L&
C. TUE HIAhe iii. Th HIEAHSHT W
e

SR
iv. T 739.50 shidt

D. ST _
A

HS:
A B C D

1) iv 1 1 111

2) @i iv i i

3) i i v i

(4) i i v i

(5) 3T S

IEUH ¥ Y MR sN @

e T fvmar 8 2

(1) FIe Bie & fog 3 = =854
T |

(2) <11 favamor 3R et T |

(3) <o i mnEfl, gexl 3k T A

(4) %aﬁqugaﬁmmn
(5) TG

T A B A1 sg, 9« i vgE feare
+ &9 § ITANhal Sd g, TS
ma%aﬁw—a'a‘mw:shtém%?

(1) faFssa

(2) 2.0

® fmd

(4) s 3N Rrd (IoT)

(5) 3T S

s — Y. s—— Tr—— T Tris———— T, T —— Wilsie o riie——s st
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102.

103.

104.

10

Figshare is primarily focused on :

(1) Open access scholarly
publication
(2) Sharing and  Publishing
research data of various types
(38) Social networking for
researchers
(4) Cloud storage for personal files
(6) Question not attempted
Match the following :
List-I List-I1
A. Athenaeum i. Free and Open
MARC Source
Utility Software
B. J-ISIS ii. OAI-PMH
C. Surpass iii. A Filemaker
Copycat Pro based
Product
D. ZMARCO iv. A Z39.50 copy
cataloguing
tool
Codes :
A B C D
1 v 1 i i
(2 dii iv i i
3 1 i iv i
4 W 1 v i
(5) Question not attempted

What key role does metadata play

in research data management ?

(1) Compressing the data for
efficient storage.

(2) Analyzing and visualizing the
data.

(8) Describing the content,
context and structure of data.

(4) Securing the data from
unauthorized access.

(5) Question not attempted

5. Which term emphasizes user-

generated content, ~social

interaction and collaboration as

key features of the web ?

(1) Linked data

(2) Web 2.0

(3) Big Data

(4) Internet of Things (IoT)
(5) Question not attempted




106.

107.

108.

109.

110.

fefvea foifted fo<d awd amefse’
fred w2 2

(1) s favafaame

(2) =T fovafarme

(3) e favafeemem

(4) e favafrmme

(5) g

Hiifess 9= TaT & Teh! hl T
i, TR (F9E)
aifehes (Ls)
RIS (ST
hCoy
i, i Mg
i, iii M ivad & |
ii, iv 3 i H’a"r% |
(4)

(5) Nﬂﬂﬁﬁw

AXI3SA TR ?

(1) T8

(2) IMy-ZeT TE i W

(3) 3R € UH &I Ush HIFRRR
(4) IR T F TH HE oM

(5) TG I

‘fomr a1, fofewt a1, 7t S gWE &6
TG HH & 2

(1) U R

(2) TRTEH

(8) UUgY i
(4) Topeda war. i

(5) ITANd T

22T YEUH IUHWI S T8 ?

1) IR (2) NI
(3 TwwEEs (4) wdE
(5) I A

1.

iii.
1v.
(1)
(2)
(3)

L LA UABOLIS TS LASS WAL LRI L A WS4 Vit TS Frokm
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106.

107.

108.

109.

110.

The digital repository ‘Research
Works Archive’ associated with

(1) Leeds University

(2) University of Washington
(3) Harvard University

(4) Cambridge University

(6) Question not attempted

Identify the components
Semantic Web Service.

i.  Successor

1. Reason

iii. Invoker

iv. Matchmaker

(1) 1i,1i and iii are correct

(2) 1i,iii are iv are correct

(3) 1ii, iv and i are correct

(i) i i

(5)

What is re3 data ?

(1) A data repository

(2) Registry of repositories on
research data

A software for RDM

An RDM action plan

Question not attempted

of

Questlon not attempted

(3
(4)
®)

Who is the author of the book ‘Big
Data, Little Data, No Data’ ? 2 Bg%
(1) Carol Tenopir té&
(2) Eddy Verbaan |
(3) Andrew Cox

(4) Christine L. Borgman
(6) Question not attempted

Which one is the data management
tool ?

(1) DMT-DT (2) R-Dark
(3) DataSc (49 DMPTool
(6) Question not attempted
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111. fr=afefiea o @ forg wR & 221 6 9s9
¥ ErEehTel= T il & 2

(1)

(3

112.

113.

114.

e
e

115.

06

(5)

&0 B2
Gepferd S21
STRING ST

(2) TR
(4) el s

2 T TS Y 3 % Rw D o o
Y il g ?

(1)
(3
(6)

@I (2 AR
TIACE AN (4) WHIE ART
FTANG T

T 9 o a1 g S % @on any
T o Hew™ I b1l Eear 8 ?

(1)
()
(3)
(4)
®)

FrEefaferdl

R

g fafad
TEfefeet (Reusability)
A T

39 & I geel & ged F g T R 2

(1)
(2)
(3

4)
(5)

T 3TN G Hidl Tt T T

i oo ff (PHP) # fo@n s 2 |
e IuAn fufa few & o
ferT ST |

4 Merhiel

AN

g e s amg s U s 2: 1®a
Y

(1)
(2)
3)

4
()

fiT 9% W, & W W, T
e i

@ Rt difen S%-amm, @
S §, Tk 918 |/

7 A= wHe FH-Iwm, o
wfifeen 4, 0§ FH TH Y WL
& 1Y
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U 8 U Th LA UIFE & A1
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111. Which of the following types of
data has least long term value ?

(1)
(2)
(3)
(4)
(5)

112,

Observational data
Experimental data
Compiled data
Simulation data
Question not attempted

Which organization provides DOIs

for research data ?

(1)
(3)
(5)

113.

BSI (2) DataCite
EIDR (49 mEDRA
Question not attempted

Which FAIR principle emphasized

the importance of making data
discoverable ?

(1)
(2)
(3)
(4)
®)

Findability
Accessibility
Interoperability
Reusability

Question not attempted

114. Which of the following is not true
for Moodle ?

(1)
(@)
(3)
4)
®)

115.

Free and Open-source LMS
Written in PHP

It is used for blended learning
Search Protocol

Question not attempted

What is 3 : 2 : 1 rule for back-ups

of active data ?

(1)
(2)
(3)

4)

(5)

Three back-ups on two sites
on one media.

Three different media back-
ups in two formats on one site.
Three different format back-
ups in two media with atleast
one off site.

Three back-ups on two types
of media with at least one off
site.

Question not attempted
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117.

118,

119.

120.

121.

- (5)

YEY % UF THR A8 & ?
5 iy e (T sheten)
QIEGIEDI

@)

3) ,
fefreet rbfem

ST S

(4)

fre Jead AuEet & R F= feas
T B S STETIHAT 811 & 2

1) =R 2 W

(8) fa (4) =9

(5) ITFTRT ¥

i 4 w9 fefee amf F dww §
HIG e WL B ?

(1) sREHR  (2) H=E

(3) hfm 4) @

(5) TG Fe

“dremre’ ez fpem feam 2

(1) Haaem (2) Hrh WSEA
(3) TR (4) o FREA
(5) I S

e (Dataverse) 'GITEE%?JI'{ forem
R frm g ?

(1) 37U HiFAR BIRUSIH

(2) TTHHETE HTIRIA

(3) 3T | TH TH, TEE JArie!

(4) s, A gaRd

(5) T IR

7.39.50 T T o W ©
(1) YR IS

(2) @3N

(3)
§4g gﬁmw@-‘?‘
5
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116.

117.

118.

Which of the following is NOT a
type of Digital Rights Management ?
(1) Encryption

(2) Access Control

(8) Licensing

(4) Digital Marketing

(5) Question not attempted

Which network topology required a
central controller or hub ?

(1) Star (2) Mesh
(3) Ring (4) Bus
(5) Question not attempted -

Which at the following is metadata

. standard for preservation of digital

119.

120.

objects ?
(1) Dublin Core (2) MODS

(3 PREMIS (4 METS
(5) Question not attempted

Who has coined the term ‘Podcast’ ?
(1) Steve Jobs

(2) Mark Andresen

(3) Adam Curry

(4) Ben Hammersley

(5) Question not attempted

Who has developed Dataverse ?
(1) Apache Software Foundation
(2) Microsoft Corporation

(3) 1QSS, Harvard University

(4) CWTS, Laiden University E:}
(6) Question not attempted

"
i
h

. 239.50 is a standard for

Communication formats
Search and Retrieval services
Cataloguing Web Resources
Library Management Services
Question not attempted

(1)
@)
3)
(4)
(5)
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122.

123.

124,

125.

126.

127.

06

“ORI} T T U Jaeie wE g feem
Syl U1 ?

(1) ufeae et
(3) #.T HH
(5) g WA
. gy, &9 g Woig! i fehat Sfor
o fermrfra femam w2

L @ (2) -

(8) =R (4) d=

(5) oTTNd ¥

(2) seo oot T
(4) =.3. f1m

(3) dfImTes (4) Tremefewn
(5) ITFING T :
TSI bl fehesh! TIeH & ?
() Sueled (i) SereEeE
(iii) wicaga (iv) gEeA
ﬁFﬁFQ:

1) (@), i) 3R (iii) T |

@) (i), (i) 3 (v) T E |
3) (), (iii) 3 (v) 7 & |
@ @), () 3 Gv) g g |

(5) ITART T

YA :

(A) : goAT AEERT & HIEW | gEAT %

(R) :

TATE FAHT H AT A 6 &9 |

wR S |

(A) g9 8, AfFT (R) ToTa © |

(R) Hea 2, ifehet (A) TeTa & |

(A) 3R (R) S &7 & (R), (A) i

HE| SATEAT ¢ |

@) (A) IR R) QT & 8, dAfHT (R),
(A) <! TEl ST TE B |

(5) STETRT A

fo a8 BNB ¥ PRECIS (PREserved

Context Indexing System) % 319 ?

(1)
2)
3)

(1) 1970 (2) 1971
(3) 1972 (4) 1975
(5) AINd WA

122,

123.

124.

125.

126.

127.

“Choice of books is an unending
work” was said by

1) Melvil Dewey

2) W.C.B. Sayers

3) C.A. Cutter

4) H.E. Bliss

5) Question not attempted -

C.W. Hanson divided documents -

into how many categories ?
Two 52? Three

1
éS% Four 4) Five

5) Question not attempted
‘Encyclopedia Britannica’ is
ublished from

1) - Chicago 22 New York
3) Washington (4) Philadelphia

5) Question not attempted
Library Ethics is a combination of
what ? '

1)  Responsibility

1) Accountability

ii1)) Commitment

i), (il) and (iii) are correct.
11), (i1i) and (iv) are correct.
ig, Eiii) and (iv) are correct.
i), (ii) and (iv) are correct.
uestion not attempted

QU QI DN =

Statement :

(A) Through information intermediaries,
producers and users of information
can effectively connect.

(R) Expert systems and internet based
services are currently functioning as
information mediators.

(A) is true but (R) is false.
(R) is true but (A) is false. -

Both (A) and (R% are true, and
(R) is correct explanation of (A).

Both (A) and (R) are true and
(1?)( Ais not correct explanation
0

ey
(2)
3)

(4)

(6) Question not attempted

In which year, BNB adopted
PRECIS (PREserved Context
Indexing System) :

1) 1970 523 1971

3) 1972 4) 1975

5) Question not attempted
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129.

130.

131.

132.

133.
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(4)
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128.

129.

130.

131.

132.

133.

Who provides ‘Library Connect’
service to librarian ?

(1) Dimension

(2) Web of Science

(3) Elsevier

(4) Google Scholar

(5) Question not attempted

The root of term encyclopaedia -
enkyklios paideia is from which
language ?

(1) Latin (2) Greek

(3) Hebrew (4) German

() Question not attempted

Which of the following is a citation
database ?

(1)
(2)
(3)
(4)
(5)

Which of the following is not a
‘Subject Gateway’ ?

(1) BUBL

(2) INTUTE

(3) InfoLAW

(4) Google Scholar

(5) Question not attempted

How many principles are followed
in PRECIS ?

(1) 5 (Five) (2) 3 (Three)

8) 2 (Two) (4) 4 (Four)

(5) Question not attempted

Mathscinet
Scifinder
Web of Science

PSYCINFO
Question not attempted

Statement :

(A) A source is a place or person
from which you can obtain
something useful or valuable.

(R) A resource is something that

can be used to perform some

function.

(A) is true, (R) is false.

Both (A) & (R) are true.

Both (A) & (R) are false.

(A) is false, (R) is true.

Question not attempted

(1)
(2)
(3)
(4)
()
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134.

135, IS

136.

137.

138. Y9

T TS SR w1 ifem gfga
TEEHUT e TR AT T ?

(1) 2018 (2) 2015
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(5) gEa ¥
HIeh TS i T &l g5 oft ?
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(3) 1948
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134.

135.

136.

137.

138.

When was the last print version of
‘Encyclopaedia Americana’ published ?

(1) 2018 (2} 2015
(3) 2012 (4) 2006
(6) Question not attempted

The International Organization for
Standardisation was established in :
(1) 1946 (2) 1947

(3) 1948 (4) 1949

(5) Question not attempted

Papyrus is a material prepared in
from the pithy stem of a water

plant, used throughout the ancient

Mediterranean world of writing or

painting on sheets and also for

making articles such as a rope.

(1) Rome

(2) China

(3) Ancient Egypt -

(4) India

(6) Question not attempted

In which year, OCLC introduced a
pilot program for Worldcat allowing
patrons to search for and locate
library resources in libraries via an
app from their mobile device ?

(1) 2011 (2) 2009

(3) 2012 (4) 2015

(5) Question not attempted

Statement :

(A) Indexing sources are
systematic guides to items
contained in or concept
derived from a collection.
These items or derived
concepts are represented by
entries arranged in a known
or stated searchable order,

(A) 1is true, (R) is false

(A) 1s false, (R) is true

Both (A) and (R) are true
Both (A) and (R) are false
Question not attempted

(R)

. Find the odd-one-out.

Library and Information
Science Abstract

Chemical Abstract

Emerald Insight

Indian Science Abstract

Question not attempted
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141.

142,

143.

144.

; 145

Total types of voice communication
in IoT environment is :

(1) One (2) Two

(3) Three (4) Five

(5) Question not attempted

‘Nupedia’ was launched on :
(1) 9tk April, 2000

(2) 9th September, 2000

(3) 9tk July, 2000

(4) 9tk March, 2000

(56) Question not attempted

“India : A reference annual” is an
example of —

(1) Directory (2) Handbook
(8) Yearbook (4) Gazette

(5) Question not attempted

General criteria for evaluation
applicable for the state-of-the-art
reports and similar publications are :
A. Quality of Information

B. - Scope and Coverage

C. - Appropriateness

D. Convenient to use

E. Costs

Options :

1 ACD,E (2 ABCDE
3) ADE 4 ACDE
(5) Question not attempted

A bibliography is a systematic list

of documents prepared for a

particular purpose on the basis of

some criteria. These criteria may be

A. Documents on a subject

B. of a country or

C. of the whole of available
knowledge

Option :

1) A&B 2 A&C

38 B&C 4 ABC

(5) Question not attempted

. ‘India who’s who' is published by :

McGraw Hill

Publication Division, Gol
INFA Publication

Times of India

Question not attempted

(1)
(2)
(3)
(4)
()
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146.

147.

148.

149.

150.

ELBS stands for

(1) English Language Book Society
(2) Electronic Library Book System
(3) Electronic Library Book Society
(4) English Library Book System
(5) Question not attempted

What does the acronym FRBR

stand for ? ,

(1) Functional Requirements for
Better Records.

(2) Functional Requirements for
Bibliographic Records.

(8) Functional Requirements for
Big Research Libraries.

(4) Function of Requirements for
Big Research Reports.

(5) Question not attempted

The author of the book ‘Elements
of Library Classification’ is :

(1) S.R. Ranganathan

(2) J.D. Brown

(3) Fermont Rider

(4) C.A. Cutter

(5) Question not attempted
Which classification scheme is
used by ‘Webrary’ ?

(1) Colon classification

(2) Library of congress classification
(83) Dewey Decimal Classification
(4) Universal Decimal Classification

(5) _Question not attempted

refers to an excess of
information that forces one to be
selective in the information
retrieved and retained.
(1) Information Age
(2) Information Overload
(3) Information Transfer
(4) Information Needs
(5) Question not attempted
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